1MA1 Practice Tests Set 1B: Paper 3H (Regular) mark scheme – Version 1.0

	

	Question
	Working
	Answer
	Mark
	Notes

	1
	
	Angle BAC = 76°

Angle BAP =              180° – 90° – 54° = 36°

x = 76° – 36° 

OR  

Angle QCD = 54° 

Angle ACP =                180° – 76° – 54° = 50° 

x = 180° − 90° – 50 °
	40o
	4


	B1 for Angle BAC = 76° (could be just on the diagram)

M1 for 76° – (“180° – 90 – 54°”)

A1 for x = 40° (explicitly stated)

C1 (dep on M1) for ‘the sum of the angles of a triangle is 180°’ and ‘alternate angles on parallel lines are equal’

OR

B1 for Angle QCD = 54° (could be just on the diagram)

M1 for 180° – 90° – (“180° – 76 °– 54°”)

A1 for x = 40o (explicitly stated)

C1 (dep on M1) for ‘corresponding angles on parallel lines are equal’ and ‘sum of the angles on a straight line is 180o’  and ‘the sum of the angles of a triangle is 180o’

or  ‘corresponding angles on parallel lines are equal’ and ‘exterior angle of a triangle is equal to the sum of the two interior opposite angles’

OR

M1 for angle QCB = 180 – 54 (=126)

M1 for 180 – 90 – “126 – 76”

A1 for x = 40o (explicitly stated)
C1 (dep on M1) for ‘sum of allied angles = 180(’ and ‘the sum of the angles of a triangle is 180



	2
	
	25 50 75 100 125 150 175
35 70 105 140 175
	10·96
	5
	M1 for attempt to find the LCM of 25 and 35 eg at least 3 correct multiples of 25 and at least 3 correct multiples of 35 or 2 factor trees with at least one correct

A1 for 175
M1 for at least one  of 
[image: image1.wmf]"175"

25

 or “5” or  
[image: image2.wmf]"175"

35

or “7” or 5.50 or 5.46  either unassociated or associated with the correct pack.
M1 for “5” × £1.10 + “7” × 78p

A1 cao.

OR

M2 for attempt to find the number of packs of cups and plates eg sight of 5 (× 35) or 7 (× 25) 

A1 for 5 (× 35) and 7 (× 25)

M1 for 5 × £1.10 + 7 × 78p

A1 cao

	3
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	Katie spends more
	3
	M1 for 
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A1 for 11.4

C1 (dep on M1)for conclusion ft from comparison of two percentages

OR

M1 for  
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 or  for 10% = 42.5(0), 1% = 4.25, 

42.5(0) + 4.25

A1 for 46.75
C1 (dep on M1)for correct ft from comparison of “46.75” and 48.45

	4
	
	
	explanation
	1
	C1 for “he has  not expanded the brackets correctly” oe

	5
	(b) 

(i)

  (ii)
	12000×1.02×1.035×1.05

3.492753115
	£13301.82

3.49
	5
	M1 12000 × 1.02 × 1.035 × 1.05 oe or a complete method not using a multiplier

A1 cao

M1  [image: image8.png]1330182



 or 1.108485

M1  ([image: image10.png]




 QUOTE [image: image11.png]


 –1) × 100

A1 cao

OR

M1 1.02×1.035×1.05 or 1.108485 seen

M1 ( [image: image13.png]


-1)x100

A1 cao

	6
	(a)
	(3x + 2)(2x + 1) = 100

6x2 + 4x + 3x + 2 = 100
	6x2 + 7x – 98 = 0
	2
	M1 (3x + 2)(2x + 1) = 100 or (2x × 3x) + 2(2x + 1) + 3x = 100 oe or (2x × 3x) + (2 × 2x (× 1)) + 1) + 3x + 1 + 1 = 100 oe 

Other partitions are acceptable but partitioning must go on 
to form a correct equation.

A1 Accept 6x2 + 7x + 2 = 100 if M1 awarded  

	
	(b)
	(3x + 14)(2x – 7) (= 0)

x = 3.5

(Area =) 6 × “3.5”2 or (3 × “3.5) × (2 × “3.5”)
	73.5
	5
	M2 for (3x + 14)(2x – 7) (= 0) or 
 or 
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If not M2 then M1 for (3x ±14)(2x ± 7) or 
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condone + in place of ± and 1 sign error.

A1 Dependent on at least M1 Ignore negative root.

M1ft Dependent on at least M1 and x > 0

A1 cao
Dependent on first M1

	7
	
	132.88 ÷ 88100 


	151
	3
	M1 for recognising that 88% is equivalent to 132.88 

M1 for 132.88 ÷ 88 ×100 oe 
A1 cao

	8
	
	
[image: image20.wmf]2

2

2

8

5

+

=

DC

;
[image: image21.wmf]89

=

DC



[image: image22.wmf]2

2

2

10

5

+

=

DB

;
[image: image23.wmf]125

=

DB



[image: image24.wmf]2

2

2

10

8

+

=

BC

;
[image: image25.wmf]164

=

BC



[image: image26.wmf]125

89

2

164

125

89

cos

´

´

-

+

=

CDB


                =  0.23702


	76.3
	6
	M1 
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M2 
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A1 76.2–76.3  

OR

M1 correct sub into cosine rule on formula sheet
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M1 correct rearrangement to 
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A1 76.2–76.3

	9
	
	4(x + 4) = 4x + 16
4(3x + 4) = 12x + 16
4x + 16 = [image: image37.png]


 (12x + 16)
12x + 48 = 24x + 32
12x = 16
	5⅓
	5
	M1 for a correct expression for at least one perimeter.
M1 for “4x + 16” = [image: image39.png]


 “(12x + 16)” oe
M1 for 12x + 48 = 24x + 32 or 4x + 16 = 8x +  
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 oe
A1 for 
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B1 ft for “
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OR

M2 for x + 4 = [image: image44.png]


(3x + 4)

M1 for 3x + 12 = 6x + 8 or x + 4 = x + 
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 oe

A1 for 
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B1 ft for “
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T&I B4 for 5.33 or better

	10
	
	20 + 15 + 7.5 + 3.5 + 1
	46 - 48
	3
	M1 for splitting curve appropriately to find area
M1 for complete area calculation 

e.g.    1 × 20 + 
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 (5 + 2) + 
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A1 for answer in range 46 – 48 

	
	(b)
	
	overestimate with reason
	1
	C1 for overestimate and appropriate reason linked to method, e.g. area between trapeziums and curve is also included


National performance data from Results Plus
	
	Source of questions
	
	
	
	
	Mean score of students achieving grade:

	Qu
	Spec
	Paper
	Session
	Qu
	Topic
	Max score
	Mean 

% all
	ALL
	A*
	A
	B
	C
	D
	E

	1
	5MM2
	2F
	1306
	Q23
	Angles
	4
	15
	0.60
	
	
	
	1.87
	0.65
	0.23

	2
	5AM1
	1H
	1111
	Q16
	Money calculations
	5
	76
	3.80
	5.00
	4.43
	4.23
	3.18
	2.57
	1.00

	3
	5AM1
	1H
	1111
	Q07
	Percentages
	3
	67
	2.02
	3.00
	3.00
	2.20
	1.27
	0.43
	0.00

	4
	
	
	
	NEW
	Solving linear equations
	1
	
	
	No data available

	5
	5AM1
	1H
	1206
	Q16bi
	Compound interest
	2
	
	
	No data available

	6
	4MA0
	2H
	1401
	Q18
	Solve quadratic equations
	7
	49
	3.46
	6.31
	4.20
	2.00
	0.45
	0.14
	0.00

	7
	1380
	2H
	911
	Q21
	Reverse percentages
	3
	29
	0.88
	2.79
	1.99
	1.00
	0.29
	0.07
	0.02

	8
	1387
	6H
	711
	Q25
	Pythagoras in 3D
	6
	28
	1.65
	4.35
	2.12
	0.79
	0.16
	
	

	9
	5AM1
	1H
	1111
	Q14
	Solve linear equations
	5
	25
	1.25
	4.83
	1.43
	0.70
	0.36
	0.57
	1.00

	10
	5AM2
	2H
	1506
	Q20
	Area under a graph
	4
	41
	1.23
	2.60
	1.97
	1.03
	0.34
	0.11
	0.00

	
	
	
	
	
	
	40
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